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ASSEMBLY INSTRUCTIONS
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These indents can anchor another shoe rack, use the
hook and loops straps to hold the racks firmly in place.
If stacking more than 2 units, anchor the units to the
wall to avoid a toppling hazard .
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If using on floors that can scratch,use footpads

underneath to protect floor.
Footpads are not included.

3
o
S

2

s

—
%3
o3353

<3

%

3

o

o%es

55
%3

2%
5
s
33

Saoes

2
3
S
=

3
55

o238

<%

5
S

53

X%
5

23

3
s
%2

5

3
o3
2
55
8
%S

o
$553
5
3%

33
o2t

o3>

S5t
s
5

22

5

2302

35
$533

S5
s
355
o

—
=z
3o

3
3
53
3

233

5%

X
32

2%
3333
o232

%

3

5

=%
5
55
8
35
3233

o

s
5

2

X%
25

3383
5

o

o358

%

3

3

25
355
=5

3
5

5
o33

3

3
3
53
3

Sest

35

5

S

S25%3

35

$55%

%
o3

3%
5

3

o353

5
=
538
o

5

o2t

3
3
3
53
S
S

<
z
33

2
o2553

222

255

3
s
%S
5
3
23
o33

55

3

35
%S
2%

2

2%

3ol

S5
553
25
55
s
s

%S
355
o

5

502

2t

o358

23e

%
355
5
3

53

%
3

5

oot
3

26%

5

3

=
Sa3e3s

=

s
%
3
s
5
3
s

5
=
5
3

5
25
5
25
s

53
533

55

5%

53

23
5553

233

02

338
o
o8

2

X%
o3
5
o553

soases

3%

$32
2%
<

5

=

o
3
Jeass

39383

2

332

S

s
S5
%
s
33
S
o
355
%
383

3%
3

—

=z
3

o393

22
o2t

e
=
532

%%
Se3ss
2
s
53
533

3%

%
29353

3

23353

o3

oS

oS

3

o
5

X%

338

S
o2t

3

$32

s

2
25

5
S8

oo

22

S
355
$532

3553
33

3
S5

%

RS
25

S0

=%

%

o35
2

5
55
3
3
53
%

2z

X%
%5

33

St
R

33

et

3%

25
5

s
355
o

228
55
%S
o2
s
o

3
oo

oo
38

5

o

33
St
338
33
3
%S
$552
s
&3

=

S

2
3
stees

53
53
S
35
5
s

<

55
8
5%
<

335
022

<%

5

X%
%5

oo5s

Z%

2353

2
5

o33

5

5
%3

—
%3
%
o353

o5t

3

35
5

33

53
2%

%S
355
$2333

5

o3

Sons

$%5

33

5
2

38
s

X%
3

%
5
s
S
3
025t
0%

2
335
o2
s
o

5

5

5

5

3
Xz
o3

32

s

=

5

5
%3

<3

zs
3

5

2

o3

35

8
23S

25
Nt

3%
355
3
£33

o258
3

33

5%

3538
s

s

0%

s3es

032

s
2
3

5

N
S5t

S

%
3
55
3

s
3
355

3%

&K

S

5
%3

55
%3

233
s

3

s
55
S
o

=
=

o2t

8

s
5

3

=
=3
33

s

=
5

55
%3

5%
5
5

S
52
3

o

355

3555
oo

2
h“"
5
2
05X
oo%ss
o2e o3

o
255

s
s
S

o

S538
55

%
s
28
23
25
3

=
5
o553

5
3

S5

5

2
5

3
s
23

=<z
020205

S538
%S

o2t

5

253
5

X
%S
%2

5
32
53

o
=

2%
55
=5

53

o
X
2%
S
o2
s
s
S
o2
s
3

5

~
3
o053
2

3
%
2%
%S
5
3

X

=

3

3
3

S

S8
o
S
i

5
222

>
3z
3353

=2
o355

5
3
35

o258

<3

<3

5

355
o

52

3
s

s

32353

3%

%5
s
$538

3%

2
=z
o255

o

<3

2
32
EEEE
3
3
33
3233

S
o2

s
5538

3%

S

S
o2

<%

%3
555
3
s
=3

o3eds

3%

<3

3
S538

5
5
S
S

s
s

S
poss
3
o2t
3

35

s
%3
$2383

5

=
5
3
<

=z
2

3%

5

5%

5

5

2%
5%

==
=2

5

35

3

St

=
35
3
5%

22

e
S
s
s
s
o2

Z
S
5553

oret
253

X
32

R
25
3

23
=

3

205
35
s
S
5
3

=
z
£39%8

2

%S
S
i

355
33392

2
S5

05558
55
228

335929

9%
%%
2%
S
o2

—
5z

%3
S
%%
5

o2t

33

e

55
55
<

53

=
355
S
52
3
o533

2%

—
2
o3ots

233

o33

533

oo
oet

0555

%3

53
$53%

o5

3.

psass

o
Z
o3s%s

Saet
S

2%
s

3

5

%S
5

s

R85
$33%2

558

sZe2e%

SRS

S538

23353

—
=z
pasese

5

5

23
=
23

2%

=2

2233

5
5

3

=3




